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P 4 ks HiEIH RAEHLG
1 B 7K it 31 0skskkkonk ik k894 RI WA
2 9 5% 1k 3] Ok 1 8 R1 W
3 VS 310%kktkiokikk0] 1 Rl B
4 R 342k wkrnkrrkrnk3]3 Rl B
5 Gogilles 310swksnknkink 042 Rl B
6 EEL 320%kkkkrbkrekd 34 Rl B
7 KT 3T0kkskskkktokk %433 RI W
8 T4 310kt k03X RI W
9 e 1 52sksksksededkkkk k9 1 8 R1 W
10 ifd K 42 3] Qskelesteteststestelestetok 713 R1 W
11 ML 310%kkkkrtk skl 36 Rl B
12 e 31 0kskkkkikrkkkd 16 R1 W
13 i fk 320skstctersotoiokotolk4 71 R1 7R
14 2=kt 34 skskssksksrsketotetokok 438 Rl W
15 L 310swksnsknsink] 12 Rl B
16 Z=ENI 31 0skskktonkkkd 54 RI W
17 B 41 Jskskssksksseettotokok() 1 2 Rl W
18 AR 51 Issksnsinsrns] 17 61 B
19 Ffep 342kl k4 56 Gl W

20 R 310swkinknkrnk 23T 61 B
21 TR 31 0skskkonkkk018 63 W
22 BURIAE 4] 2tttk ik 658 N1 W
23 IRERS 34 T kkrkkrkink533 N1 B
24 KITHE 310%kkkkrtkrrd 16 N1 B
25 T 410wkt 023 N1 B
26 bt 41 Tkskrkrbk stk 54X N1 B
27 % 5 39 0sksksksksksiektttokok 2 1 6 N1 W
28 FR2R 31 Oskkkkrk k2 1 6 N1 W
29 I SARYS A2k AHK2T6 N1 W
30 PHE 3] Osksksksksksrkettesokok 6 30 A R
31 WEER 310%ksbkotkikk53 A B
32 B 4 34 2skskttoiokkk 035 A W7
33 i 310%kkkrtkrk9 ] 4 A B
34 J 130skskskrkonkk 130 A W
35 B 310%kkkrkrrk 01X A B
36 Wi 31 0skskkonk ik k026 A WA
37 WkBE 31 Oskskskskkrkkdokkk 427 A AR
38 W& 320kt *81 0 A W
39 HAHT 3] Qskelestetetsteseolesteokokd 1 5 A W
40 )35 e 622xkskskskdokskkAk 437 A 7R
41 JH A 310%kkkrtk s k016 A B
42 [ =) 4] Tsklstetosstetololoteokk8 1 1 A W
43 B 3] Ok 16 A W




